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INSTRUCTIONS.

() Not more than cight questions to be att
attempted.

() The marks allotted to e: )
prackets under. 0 each question

(c) Mathematical Tables are supplied

are shown in

(d) Special credit will be gi :
neatness and order in answe%izg.l to candidates who display

(¢) All working must be shown in the answer book

1, (0) Simplify
11+1%  33—1%
() I 51}.65 pubic inches of cast iron weigh 565 Ib.
d, without using logarithms, the weight of one
cubic inch of cast iron correct to three decimal

places.
[10 marks.]

weighs 126 1b. What
1d weigh 169 Ib.

gth in casting.
t to two

% (¢) A metal bar 9 ft. 3 in. long
length of the same bar Wou

() Aluminjum shrinks 4% inch per foot len
EX}_?I‘GSS this as a percentage correc
decimal places.

[10 marks.]

each measuring 12 feet long,
t £5 1s. 3d. Find the cost

ic foot of this material. [10 marks]
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4. Transform the formula y=a(L+at) so as to obtain @ in
terms of the other symbols. Then find a if y=6-01, x=4-21,
and ¢=100.

[10 marks.]

5. A lump of alloy contains 4-55 1b. of copper, 1-29 Ib. of
zine, 0-42 1b. of lead and 0-25 1b. of other material. Find
the percentage weight of copper, zinc and lead in the alloy.

' [10 marks.]

6. In Table below, W denotes the resistance in lb. per ton
of a train travelling at V miles per hour.

V miles per hr. ‘ 0 1l 23.

W 1b. per ton 8-0f 88|11-3 ] 13-0|155|20-0 25:0| 30-5 | 36-2

Find graphically (/) W when V=32 mls. per hour, and
(6) V when W=14-5 1b. per ton. ‘
[12 marks.]

7. (@) Find « and y if % + g=5, and 4o—y=2.

(0) One value of = which satisfies the equation
622—92—c=0 is 5. Find the value of ¢. What
other value of 2 will satisfy it ¢

' [12 marks.]

8. Find, by calculation, the area of an equilateral triangle
whose side is 0-5 inch.

Use your result to find the weight of a copper bar 12-5 ft.
long, the section of which is a regular hexagon of side 0-5 inch,
1 cubic foot of copper weighs 550 1b.

[12 marks.]

9. What is a parallelogram ? Establish the rule for finding
its area. Construct a parallelogram whose diagonals include
an angle of 73° and are 5-6 inches and 3-7 inches long.

- Find its area in sq. inches.
‘ [12 marks.]

10. (e) If t=27 3 find, using logarithms, the value of ¢

if #=3142, =306 and g=32-2.

(b) Evaluate, using logarithms : (0-3)°“ and (0-3)™".
: [14 marks.]
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ncb a triangle ABC having buso BC--14.9 inchi
__56° and. a,nglle JB}({A}:_G{J". Find, by r;mmi,rm:f.iun:
4 aﬂg]? . gide the triangle Wilch 18 equally distant, from {he
; Polﬂff dléf and measure that djsiim ce. Prove, by geomotrion)
ghree S.lng that your method for finding the point is correct,.

l.eﬂ's.gm [14 marks, |

g, Constr

—

EE G U

1. with the help of a diagram, what you under-
12. ];JI‘P ;{nn,, cosA and tanA, and show that the relation
sts,nd| y 2A =1 is true for all values of A.
B 5iD2A‘r10?1gest gide of a 60° set. square is 9 inches,  Wind by
;I‘Efg,t?on using the tables if necessary, the lengths of the
 calC : ?

~ other tWO sides.

|14 marks. |




